INEHEZF1500m

2= 103 HEREA 24 L " 48 L—y
1 iR B 6.44.71 14 1 2
2 BH h R 1 1
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INEHE B F1500m

A IE L HEEA 24 L & 4 L—y
1 i ER 5.01.59 5 2 4
2 RE B/ 5.11.06 8 2 3
3 Ml =ZE 5.12.18 1 1 12
4 HE B 5.12.86 2 1 9
5 Ef Bt 5.15.18 3 1 6
6 LR A 5.17.47 4 1 11
7 LT &ZE 5.21.44 5 1 10
8 ISRt 5.25.80 6 1 13
9 B K& 5.26.99 7 1 14
10 Ea Bt 5.27.48 1 5
11 e BE 5.30.91 9 1 15
12 pNITICE S 5.45.59 10 1 8
13 =& A 5.46.62 11 1
14 KiE 0o 6.00.44 12 1 7
15 BB 5n 6.14.17 13 1 3
16 Bl &b x 2 2
17 PR SXAh x 2 5
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A IERL HEESA B4 L & 8 L=
1
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3
— & 5B F1500m
BA IERL HEESA B4 L & 8 L=
1 KO BEA 4.33.05 1 2 17
2 hngk K 4.50.09 2 2 9
3 i w 4.59.13 3 2 8
4 XiE B 5.00.08 4 2 15
5 EH LA 5.02.38 6 2 18
6 N 5.09.61 7 2 11
7 Bl &k 5.20.27 9 2 12
8 e B x 2 6
9 KiE Bish x 2 7
10 =1 N x 2 10
11 Ed 15 x 2 13
12 R E- x 2 14
13 RN 2 x 2 16
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INFEZF1000m

LA NERL BEEA A4 L = #H L—y
1 LIl f{E 3.38.12 7 1 4
2 EH FE 4.05.97 10 1 3
3 Eg 1t 4.23.86 13 1 1
4 B B 4.38.42 14 1 2
5
INEBF1000m
LA NERL BEEA 24 Ls v H L—y
1 i ELh 3.06.32 2 1 10
2 BAS & 3.22.82 4 1 8
3 RE Em 3.25.02 5 1 9
4 MR #@A 4.10.60 11 1 17
5 5i5 A 421.19 12 1 6
6 L% X¥ R 1 7
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— & 2 F1000m
LA IERL R EA 24 L = #H L—y
1 K HEF 3.46.72 9 1 5
2
— % B F1000m
BREIEAL EEA 24 L = #H L—y
1 R #X 2.48.37 1 1 13




Ll F 3.08.41 3 12
il RX 3.26.51 6 14
A X# 3.41.78 8 11
R R R 15
far @ R 16

(=T I = < 2N I I I = > D S ) O I~ N VL T B\

—
o




INFEHE L F3000m

BEIBLL ks b= 24 L & L—>
1
2
INFEHE BF3000m
BEIBLL ks b= 24 L & L—>
1 PR wiBAH 14.27.06 2 1
2
— 8 ZcF3000m
BEIESL B E A 24 L = L—>
1
2
— % 55 F3000m
BEIELL BEEA 24 L & L—>
KA BEA 9.54.12 1 3
/MBS FFER R 2
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